et

1 AN

1. LEA4
T4 AN 7 AR L T T
T4 1L R BT R LU S
2. TENE

1)  FHEIT4 HiwEgsEr LB 3

2) X I f& I T2

3) T ) 202 H [# 4Fn 74 8H28H

S 84E 3HITH
4) T EgE

i@ Aokt 5w m




PR NERE

SS400 ¢ 28mm ;

T4 | A 7R IR T T
THRX Sy « Lff - fi5 Bz ¥ = & i a1l % 7
B e Y 55, 447, 691
W+ T = 27, 161, 402
PR L (ICT) = 14, 843, 396 | HEHI (ICT) 18, 600 m3
B EA
A 1 2V
+H15
HERET = 8,128,436 [HE L 1 7
A #EIE T (ICT) = 1,524,608 |JEMEIEE (B11E) (ICT) 1,720 m2
VHE + b} ORD R +- kEPE 1
[(=5=wmn = 1,587,662 |HiEE L 1 =
FmEEIE 1 =
AT Y 1,077,300 |7 500y 1 =Y
R T = 9, 150, 372
fET Y 9,150, 372 |7 ny/fEiA 462 1A
HIE7 uy12t ;
7"y ) 462 &
HIE7 uy12t ;
VARYE oy 462 &
BIE7 wys12t
AR [ 6 T. = 1, 946, 880
RE DT 1y T = 1,946, 880 |7 myJfEiA 80 ]
57 0y )12t
7y ) TEH 80 &
57 0y )12t
VARYE oy 80 &
57 0y )12t
AL A H 120 |

i@ Aokt 5w m




A NERE
THEAL | A7 R T
THXSy - TH - fly HOfr ¥ & & fH # bl N g
R L = 1 17, 189, 037
THAERLT = 1 3,025,750 | ARIE A KA E v
(QEREIN 3 ES X,
RN = 1 176,290 | {5k Y] =
KRBT = 1 12, 726,000 | & v7° HEk =
160024 1800 (m3/h) Al REHEK ;
bR L = 1 1,260,997 |BUGERS =
[ELRE Ty X 1 55, 447, 691
im R # = 8,517, 000
B SIS = 3, 865, 000
M X 2,652, 000 | E R BB AR S IR AEL T g ik 20
Bty B v 598, 000 | VATAFIHIE: (ICT) =X
BUGRESGER (R5th) v 615, 000
ol # (KE L) v 1 4, 652, 000
Wi TR v 1 63, 964, 691
B E R X 1 18, 428, 000
TRl v 1 82, 392, 691
—fRE R % X 1 14, 467, 309
T e fifik& X 1 96, 860, 000
g

i@ Aokt 5w m



